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QUESTION 1

Which option is a user policy?
A. authentication

B. admin policy

C. call policy

D. Find Me

Correct Answer: B

QUESTION 2

Where must TURN servers be configured in a resilient and scalable Cisco Meeting Servers solution?
A. CMS core only

B. CMS core, CMS edge, and Cisco Unified Communications Manager

C. CMS edge only

D. CMS core and CMS edge

Correct Answer: C

QUESTION 3

In an H.323 call that is not interworked, which three signaling protocols are routed through the Expressway? (Choose
three.)

A.RTP
B. Q.931
C.H.254
D. RAS
E. RTCP
F.H.245

Correct Answer: AEF

QUESTION 4

500-710 VCE Dumps | 500-710 Exam Questions | 500-710 Braindumps 2/5


https://www.pass4itsure.com/500-710.html
https://www.pass4itsure.com/500-710.html
https://www.pass4itsure.com/500-710.html

VCE & PDF https://www.pass4itsure.com/500-710.html
a 2024 Latest passditsure 500-710 PDF and VCE dumps Download
== / PassditSure.com

Which statement about integrating a Cisco Expressway with a resilient and scalable Cisco Meeting Server deployment
is true?

A. Neither Expressway cores nor Expressway edges can be integrated with Cisco Meeting Server.
B. Only Cisco Expressway cores can be integrated with Cisco Meeting Server.

C. Only Expressway edges can be integrated with Cisco Meeting Server.

D. Expressway cores and Expressway edges can be integrated with Cisco Meeting Server.

Correct Answer: D

QUESTION 5

Which Cisco WebEXx products can support up to 3000 attendees?
A. Cisco WebEx Meeting Center

B. Cisco WebEx Event Center

C. Cisco WebEXx Training Center

D. Cisco WebEx Support Center

Correct Answer: B

QUESTION 6

Which type of Cisco Spark Bot acts as a text-based remote control for external services?
A. Spark DocusSign Bot

B. SMS to Spark Bot

C. assistants

D. Spark Poll Bot

E. controllers

F. notifiers

Correct Answer: B

QUESTION 7
Where in the TMS application does an engineer add individual endpoints or infrastructure to the TMS database?

A. System > Navigator
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B. System > System Overview
C. System > Provisioning
D. System > Manage Dial Plan

Correct Answer: A

QUESTION 8

Which option is the correct format for a SIP alias?
A. 212-555-1212

B. +12125551212

C. John.doe@cisco.com

D. John.doe

Correct Answer: C

QUESTION 9

Which option governs the order in which the search rules query the local zone versus neighbored Expressways?
A. priority number

B. call processing order

C. call policy

D. target zone

Correct Answer: D

QUESTION 10

Which configuration on the Expressway is needed for a SIP end point to register?
A. active neighbor zone between the end point and the Expressway

B. SIP authentication enabled

C. Registration restriction policy in Allow mode

D. SIPdomain

Correct Answer: D
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QUESTION 11

As engineer notices that TMS Conference Control Center is not displaying the interface on a scheduler\\'s computer, but
it operates properly on the administrator\\'s computer. Which cause is the most likely?

A. Java must be properly updated and configured on the scheduler\\'s computer.
B. NET or IS is not set upon the scheduler\\'s computer.

C. The server domain of the scheduler\\'s computer must be properly configured.
D. The network has a port blockage.

Correct Answer: A

QUESTION 12

What is the minimum number or databases that can exist within a cluster when deploying a resilient and scalable Cisco
Meeting Server deployment?

A 4
B.3
C.5
D.2

Correct Answer: B

QUESTION 13

An engineer wants to only allow the registration of endpoints with aliases containing cisco.com asthe
domain.

Which option accomplishes this task?

A. Set the restriction policy to "Deny" and include the expression.*@*in the deny list.

B. Set the restriction policy to "Allow" and include the expression\l@ cisco.com in the allow list.

C. Set the restriction policy to "Allow" and include the expression. *@cisco. com in the allow list.

D. Set the restriction policy to "None" and include the expression \1@ cisco.com in the allow list.

Correct Answer: C
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